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}A 1/10 @ B - 15. Quarterback A1 drops back to pass 
under heavy defensive pressure. He is @ B - 20 when he 
throws a backward pass toward the sidelines, where 
there are no players of either team anywhere near 
where the pass was thrown. The ball hits the ground @ 
B- 25 and rolls out of bounds @ B - 30.  

}A. A1 should have been flagged for intentional 
grounding.  

}B. The ball should have been blown dead when it hit 
the ground.  

}C. The ball was live until it rolled out of bounds.  
}D. The clock will start on the ready for the next down.  
}E. The next down will be A 2/10 @ B - 15.  
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}Any player may make a backward pass during any 
down for any reason, per 7 - 4- 1. A backward pass 
remains alive when grounded, since 4 - 2- 2c says 
only forward passes are dead when incomplete. 
Since it was live when it hit the ground, it is a loose 
ball that goes out of bounds, per 4 - 2- 2b.  
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}K 4/10 @ 50. K1õs punt is in the air when R2 makes a 
valid fair catch signal @ R - 10. The ball hits R2 in the 
chest, bounces on the ground @ R - 10, and then K2 
possesses the ball while in full stride @ R - 9. K2 runs 
untouched into Rõs end zone, without any whistles 
sounding.  

}A. Result of the down is a touchdown for K.  
}B. The covering official should have blown his whistle 

when K2 possessed the ball.  
}C. K2õs act of possessing the ball is defined as a catch.  
}D. The ruling in this situation would have been 

different if the ball had not hit the ground.  
}E. K may advance any scrimmage kick that is caught or 

recovered beyond the neutral zone.  
 
 6 



}K 4/10 @ 50. K1õs punt is in the air when R2 makes a 
valid fair catch signal @ R - 10. The ball hits R2 in the 
chest, bounces on the ground @ R - 10, and then K2 
possesses the ball while in full stride @ R - 9. K2 runs 
untouched into Rõs end zone, without any whistles 
sounding.  

}A. Result of the down is a touchdown for K.  
}B. The covering official should have blown his whistle 

when K2 possessed the ball.  
}C. K2õs act of possessing the ball is defined as a catch.  
}D. The ruling in this situation would have been 

different if the ball had not hit the ground.  
}E. K may advance any scrimmage kick that is caught or 

recovered beyond the neutral zone.  
 
 7 



}By definition, gaining possession of a live ball after 
it strikes the ground is a recovery, not a catch, per 
2- 36 - 1. Whether K2 recovered or caught the kick 
does not make a difference as far as the rule for 
advancing a scrimmage kick is concerned ñthe 
only thing that matters is where  he caught or 
recovered the kick. If K catches or recovers a 
scrimmage kick while it is in or behind the neutral 
zone, he may advance, per 6 - 2- 3. Since the 
recovery in this case was made beyond the neutral 
zone, K2 may recover but not advance, and the ball 
became dead, per 4 - 2- 2f.  
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}A 4/5 @ B - 20. Eligible receiver A1 runs a pass pattern 
downfield beyond the line of scrimmage, then blocks 
B2 above the waist @ B - 10 while a legal forward pass is 
in the air. The covering official throws a flag for 
offensive pass interference against A1, then the 
forward pass falls incomplete, untouched by either 
team.  

}A. B must decline the penalty in order to get the ball.  
}B. Bõs best choice is to decline the penalty.  
}C. Bõs best choice is to accept the penalty.  
}D. Pass restrictions for A begin when a legal forward 

pass is in the air.  
}E. A1õs block was legal and the flag must be picked up.  
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}Pass restrictions for A begin with the snap, per 7 -
5- 8a. Since all B players are eligible receivers, A1õs 
block on B2 is offensive pass interference, per 7 -
5- 10a. Offensive pass interference (OPI) is one of 
the 5 fouls that include a loss of down penalty in 
the NFHS code ( Opiõs hand pass touches the 
ground.) Since this is a foul by A during a loose 
ball play, the previous spot is the spot of 
enforcement. Bõs best choice is to accept the 
penalty, which results in B 1/10 @ B - 35. Accepting 
the result of the down would have B 1/10 @ B - 20.  
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}A 2/9 @ A - 20. Runner A1 has the ball @ A - 25 when 
B2 grabs and twists A1õs face mask, causing A1 to 
spin around. While A1 is still @ A - 25, B3 grabs him 
by the back of the should pads, bringing him down 
@ A- 25. The LJ throws a flag for a 15 yard face mask 
foul, and the U throws a flag for a horse collar tackle.  
A. If A declines the penalties, it will be A 3 /4 @ A - 25.  

B. The penalty for both fouls includes an automatic 1 st down.  

C. A can choose to have the penalties for both fouls enforced.  

D. The penalty for the face mask foul includes an automatic 
1st down.  

E. None of the above are true.  
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}A was tackled @ A - 25, so that is the result of the 
down, which would result in A 3 /4 @ A - 25.  

}The grasping the face mask foul and the horse collar 
tackle fouls were both live ball fouls. (9 - 4- 3k 
specifically states that all horse collar tackle fouls are 
enforced as live ball fouls.)  

}The only personal fouls in NFHS that include an 
automatic 1 st down are DPI and the 4 roughing fouls 
(kicker, holder, snapper and passer) per 10 - 1- 7.  

}Per 10 - 2- 4, when one team commits 2 or more live -
ball fouls, other than non - player or USC, only 1 of 
the penalties for those fouls may be enforced. Since 
both 15 - yard penalties occurred @ A - 25, it does not 
make a difference which one A elects to enforce.  
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} A 2/10 @ B - 15. Quarterback A1 drops back and throws a 
forward pass that is intercepted by B2 @ B - 5. B2 begins a long 
run toward Aõs end zone. The LJ, who is trailing the action, has 
to circle around several of Bõs coaches, who are so excited that 
they are standing in the field of play. The LJ drops a flag @ B -
25, the spot where he has to run around to avoid contacting 
the coaches. B2 runs for an apparent touchdown. [Note: Bõs 
coaches have not been warned or penalized up to this point in 
the game for being in the restricted area.] If A accepts the 
penalty, the following statements are true:  
A. The touchdown is cancelled.  
B. The spot of enforcement is the spot of the foul.  
C. The penalty is a warning.  
D. The penalty is 5 yards.  
E. The penalty is 15 yards.  
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} A 2/10 @ B - 15. Quarterback A1 drops back and throws a forward pass that 
is intercepted by B2 @ B - 5. B2 begins a long run toward Aõs end zone. The 
LJ, who is trailing the action, has to circle around several of Bõs coaches, who 
are so excited that they are standing in the field of play. The LJ drops a flag 
@ B- 25, the spot where he has to run around to avoid contacting the 
coaches. B2 runs for an apparent touchdown. [Note: Bõs coaches have not 
been warned or penalized up to this point in the game for being in the 
restricted area.] If A accepts the penalty, the following statements are true:  
A. The touchdown is cancelled.  
B. The spot of enforcement is the spot of the foul.  
C. The penalty is a warning.  
D. The penalty is 5 yards.  
E. The penalty is 15 yards.  

ü Answer : Coaches are, by definition, non - players (2 - 32 - 1). The basic spot for a 
non - player foul is the succeeding spot. Since the òall but oneó enforcement 
applies only to player fouls, the foul by the B coaches will be administered from 
the succeeding spot, which is the try. Since Bõs coaches were actually on the field 
of play, the warning provisions of 9 - 8- 1k do not apply, and Bõs coaches have 
violated 9 - 8- 1i, which has a 15 yard penalty . 
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}A 2/5 @ B - 20. A1 takes the handoff and runs to 
the B- 5 where he is downed. During the down, 
A2 illegally blocked below the waist @ B - 21.  
A. If B accepts the penalty for the illegal block, it will be 

enforced from the end of the run.  

B. If B accepts the penalty for the illegal block, it will be 
enforced from the previous spot.  

C. If B accepts the penalty for the illegal block, it will be 
enforced from the spot of the foul.  

D. This is a foul during a loose ball play.  

E. None of the above are true.  
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}Answer: This is a foul during a running play, 
where the basic spot is the end of the run. This is 
a foul by the offense behind the basic spot, so 
the enforcement spot is the spot of the foul, per 
10 - 6.  
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}K kickoff @ K - 40. K1õs kickoff goes out of 
bounds, untouched by R, @ R - 30.  
A. R can elect to take the ball @ R - 35 and snap it 

anywhere between the hash marks.  

B. R can elect to take the ball @ R - 30 and snap it 
anywhere between the hash marks.  

C. R must snap the ball next if they accept or decline the 
penalty.  

D. K did not commit a foul  

E. If R elects to snap the ball next it must do so from the 
inbounds spot . 
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} K kickoff @ K - 40. K1õs kickoff goes out of bounds, untouched 
by R, @ R- 30.  
A. R can elect to take the ball @ R - 35 and snap it anywhere between 

the hash marks.  
B. R can elect to take the ball @ R - 30 and snap it anywhere between 

the hash marks.  
C. R must snap the ball next if they accept or decline the penalty.  
D. K did not commit a foul  
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spot.  

} Answer: The penalty for a free kick going out of bounds, 
untouched by R, includes the option for R to put the ball in 
play at the inbounds spot 25 yards beyond the previous spot. 
This is not  one of the 7 times A may designate the spot, per 4 -
3- 6. If R elects to have K re - kick with a 5 yard penalty from 
the previous spot, K can elect to kick the ball from anywhere 
on their restraining line between the hash marks.  
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} A 4/10 @ A - 20. Long snapper A1 enters the game wearing a jersey 
#99. Aõs formation consists of 7 players on the line of scrimmage, 
including 4 with numbers between 50 and 79, and 4 players in the 
backfield. The snapper, A1, is in the middle of the formation on the 
LOS. A1 snaps the ball directly to A2, who is lined up directly behind 
A1, about 10 yards deep. A2 catches the snap and then throws a 
forward pass directly to A1, who has turned around and is facing A2 
@ A- 18. A3, who was a back at the snap and wearing #30, is 
standing next to A2, but makes no effort to catch the ball. As soon 
as A1 catches the ball, the Referee throws a flag and blows his 
whistle. A2 was still @ A - 18 with the ball in his possession when the 
whistle sounded.  
A. A should have been flagged for illegal numbering or an illegal formation.  
B. A1 was an eligible receiver at the snap.  
C. The Referee had an inadvertent whistle.  
D. B should be told that if they accept the penalty, it will be 5 yards from the 

previous spot, replay the down.  
E. B should be told that if they decline the penalty, they get the ball where it 

was blown dead.  
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} This is a 4 th  down, so the numbering restrictions are eased 
quite a bit per 7 - 2- 5b Exception 2. A #99 was in the game 
legally under the numbering exception, however, eligible 
pass receivers for A must be either ends or backs at the 
snap, per 7 - 5- 6a.  

}A #99 was ineligible by position, and when he caught the 
pass, he committed illegal touching, per 7 - 5- 13.  

} The foul for illegal touching does not make the ball dead, so 
the Referee had an inadvertent whistle.  

}Bõs captain should be told that if they accept the penalty, it 
will be enforced 5 yards from the spot of the foul, and it has 
a loss of down provision, per 7 - 5- 13 Penalty. If B declines 
the foul, then the provisions for an inadvertent whistle kick 
in, and A can elect to replay the down under the provisions 
of 4 - 2- 3c.  
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}A 2/5 @ B - 20. Defensive back B1 commits defensive 
pass interference (DPI) against eligible receiver A2 @ 
B- 5. A2 somehow manages to catch the pass @ B - 3 
and runs into the end zone. On the subsequent try, 
B3 roughs kicker A4 and the kick is good.  
A. A had to decline the penalty for the DPI foul in order to 

keep the touchdown.  
B. A can only  enforce the DPI on the subsequent kickoff.  
C. A must decline the penalty for roughing the kicker to keep 

the point for the try.  
D. A can elect to have the penalties for both DPI and roughing 

the kicker assessed on the subsequent kickoff.  
E. None of the above are true.  
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}B1 has committed a player foul while A scored a 
touchdown, so A can elect to carry that foul over to 
the subsequent kickoff, per 8 - 2- 2b. A can elect to 
have the roughing penalty enforced on the 
subsequent kickoff under 8 - 3- 5b. Acceptance of 
both penalties is not considered a multiple foul, 
since they occurred during 2 separate downs, per 
2- 16e.  
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}After accepting 2 penalties, K kicks off @ R - 30. 
K1 kicks the ball out of bounds, untouched by R, 
@ R- 3, on the Linesmanõs sideline. Rõs options 
include the following:  
A. Snap the ball @ R - 3, anywhere between the hash 

marks.  

B. Snap the ball @ R - 35, anywhere between the hash 
marks  

C. Snap the ball @ R - 15 at the inbounds spot.  

D. Elect to have R re - kick @ R- 35.  

E. None of the above are true.  
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}The penalty for a free kick going out of bounds, 
untouched by R, includes 3 options for R, per 6 - 1- 8. 
One of their choices would be to decline the penalty 
and put the ball in play at the inbounds spot, which in 
this case would be the R - 3, on the hash mark closest 
to the Linesmanõs sideline. Given the circumstances, we 
would not give R this option, instead, we would ask the 
R captain if he wanted to exercise either of the other 2 
options: Put the ball in play 25 yards beyond the 
previous spot, which would be the R - 5, or have K re -
kick with a 5 yard penalty which would be the R 35.  

}Note: 6.1.8 makes it clear there is no half distance 
provision for the 25 yards beyond the previous spot.  
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A 3/10 @ A-20. A has 6 players on the line of scrimmage 
at the snap. Quarterback A1 throws a legal forward 
pass, and is then roughed by B2 @ A-25. After the 
roughing foul occurs, B3 intercepts the pass @ A-30 and 
runs for an apparent touchdown. During B3ôs run, B4 
punches A5.  

A. Aôs foul is for illegal numbering. 
B. B got the ball with ñclean hands.ò 
C. B4 must be ejected regardless of whether the distance 

penalty is enforced. 
D. After all penalties are enforced, B will snap the ball next. 
E. None of the above are true. 
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}A has a committed a foul for an illegal formation, 
which is considered to have occurred at the snap, 
per 7 - 2- 5a.  

}B2õs roughing foul occurred prior to B3õs 
interception, so B got the ball with òdirty hands,ó 
per 10 - 2- 2a.  

}Since we have live - ball player fouls by both teams, 
the penalties for the fouls will offset and we will 
replay the down, except for the B4 foul. That 
carries an ejection, whether or not the penalty for 
the fouls offset, per 10.2.1C.  
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A K 4/10 @ K-30. K1 punts. R2 makes a valid fair catch 

signal and then catches the punt @ R-20. Before the BJ 

or LJ can blow their whistles, K3 tackles R2 @ R-20. 
A. It is a judgment call as to whether K3 has committed kick 

catching interference or not. 

B. No foul occurred because K3ôs tackle occurred prior to a 

whistle being blown. 
C. K3 committed a dead ball foul.  

D. K3 committed a live ball foul. 

E. The penalty will be enforced from the previous spot. 
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}The ball is dead after an R player makes a valid or 
invalid fair catch signal and then catches the kick, 
per 4 - 2- 2g; therefore, K3 has committed a dead 
ball foul, even though no whistle was blown.  
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}A 1/10 @ B - 20. Quarterback A1 drops back to pass 
under a heavy rush. Lineman A2 attempts to keep B3 
away from the quarterback, and in the process grabs 
B3õs jersey @ B-25. R and U throw flags for Bõ3 hold. 
B3 breaks free and sacks A1 @ B - 30.  
A. Referee should just assess the penalty because Bôs choice 

is obvious.  
B. The penalty for A2õs foul is enforced from the previous 

spot.  
C. The penalty for A2õs foul is enforced from the spot of the 

foul.  
D. B can elect to take the results of the down.  
E. None of the above are true.  
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}The foul by A2 for holding occurred during a 
running play, so the basic spot is the end of the 
run.  

}There are 2 options for B: decline the penalty and 
take the result of the play, which is A 2/20 @ B - 30. 
If B elects to accept the penalty, it would be 
enforced from the end of the run, the B - 30, 10 
yards, repeat the down, A 1/30 @ B - 40.  
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A 3/10 @ A - 44. Eligible receiver A1 goes downfield at 
the snap and blocks B2 @ 50, above the waist, from 
the front, knocking B2 to the ground. Quarterback A3 
then throws a forward pass to eligible receiver A4, 
who catches the pass @ A - 42 and runs to the B - 35 
where he is downed, in bounds.  

A. A1 has committed offensive pass interference (OPI) by rule.  

B. It is a judgment call as to whether A1 has committed OPI.  

C. The game clock will next start on the snap whether the 
penalty is accepted or declined.  

D. A1õs foul occurred during a running play. 

E. None of the above are true.  
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}A1 has not committed OPI by rule, since pass 
interference restrictions only pertain to passes 
caught beyond the neutral zone, per 7 - 5- 7.  

}The answer about the clock is impossible to tell 
from the way the question is written.  

}My apologies for this.  
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}K 4/10 @ K - 40. At the snap, lineman R1 holds 
back K2 at the line of scrimmage, preventing K2 
from going downfield. Umpire throws a flag for 
holding on R1. K3 punts the ball, and R4 makes a 
fair catch @ R - 20.  
A. R1õs foul is considered to be a PSK foul. 
B. R1õs foul is not a PSK foul. 
C. K may elect to enforce the penalty from the PSK spot.  
D. Kõs penalty choice is obvious, the Referee should not 

ask the captain.  
E. If K refuses the penalty, R must snap the ball at the 

spot of the fair catch.  
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back K2 at the line of scrimmage, preventing K2 
from going downfield. Umpire throws a flag for 
holding on R1. K3 punts the ball, and R4 makes a 
fair catch @ R - 20.  
A. R1õs foul is considered to be a PSK foul. 
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}Answer: PSK fouls must take place beyond the 
neutral zone, per 2 - 16 - 2h - 3.  

}Kõs choices are to enforce the foul, which is a 10 
yard penalty from the previous spot, or to accept 
the result of the play, which is a first down for R. 
Another poorly written question.  
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}K kickoff @ K - 40. During an òonsides ó free kick 
attempt, kicker K1 òsquibó kicks the ball. R2 muffs 
the grounded kick @ K - 48, and then attempts to 
recover the ball. Before R2 can make the recovery, K3 
hits R2 in the chest @ K - 47, above the waist, and 
then K3 recovers the ball. During the entire kick, the 
ball never crossed the 50.  
A. K3 has blocked illegally because the kick never crossed Rõs 

restraining line.  
B. K3õs block is legal. 
C. If R2 had managed to gain possession the ball would have 

become dead.  
D. K3õs recovery is considered to be first touching. 
E. K3õs block would have been legal even if it was below the 

waist.  
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